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Instructions (A2 AMZ93V)

In the space below, explain (in 150-200 words) a concept (i.e., "a general idea
derived or inferred from specific instances or occurrences") with which you are
familiar. Here is an example; please do not simply copy it and make a few
changes. Be creative and imaginative!
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The timeslot concept is a key factor in the efficient use of a shared medium,
such as radio channels. Dividing the usage of a radio channel into timeslots
enables several users to share it. Each user transmits as if he or she was the
only user of the channel, and the controller divides up the transmission and
sends it in pieces in the timeslots assigned to the user. Multiple users can
thus share the same transmission medium.

This concept is the basis of time division multiple access (TDMA) technology,
which is widely used in mobile phone systems. In TDMA, a data stream is
divided into frames, and those frames are divided into timeslots. TDMA is
commonly used for the uplink from mobile phones to a base station, which is
a challenging application because the phones can move around, making it
difficult to fit the transmission into the timeslots.

The GSM system overcomes this problem by sending commands from the
base station to the mobile phones instructing them when and how much to
transmit. A phone is not allowed to transmit for its entire timeslot. A guard
interval at the end of each timeslot is used by the mobile network to adjust the
transmission timings.

Be sure to make a rough plan (outline) before starting to write and to check your
work (proofread) before submitting it, especially your use of prepositions. (The
highlighted segments in the example demonstrate such usage.) Good luck!
EZRODHNC BT T INIAVEEVNWTEEENMNITIUEILTELLD, T EE8 Do
F=oRH T BRI BF v ILELLD FICHTERADOENVAZHERLELLS, (FIXHTER—
JVRRICIES> TV BEEEDLEA)IE, 2DV AZRLIZEDTY , )Good luck!



Your Original — G =D7HA4 A2k

Instructions: Type your assignment starting two spaces below. Keep the length
of your work at or under 200 words.
HBI=DTHA A bEIMB2ITFRY A AL TZEN, 200 7—FRETERELGDH KD
[CLTLEZELY,

Full Revision — FEIZED 7 YA A2 b (SERKR)

[The corrected version will be shown here.]

[SERAR]

Part-by-Part Explanation — 407 H4 A2 b EFAIBDTHA AU L (AX Db
1)

[An explanation of the corrections will be shown here.]
MEIE &R DEREA]



